*XIAIE W

Xt WUt

DA
(AE-33)

10:30-13:30

%k

ey

E=H|5t|
22|lEfo] |
)

gsiis

" DRI Flof Coh
= ZI6x[7| 50|
= Ligto| Of BtS|

10:30-13:30

10:30-13:30

st
(K-pop, 52/713,
20}
(1)

" ofolx =2{of

= 22io} T1200| 24| oje|
" Moz el digep|
" £222p|oHRyEH)

. /22 =3 2|

= O[O E=f0fZ
» HelSQet =0
" TSR 0[0p| HOH=Y|
» Q2| YT 2|

" 523 =5 )

10:30-13:30

10:30-13:30

Tango

(299

= Ofo|A HE0Y

= BHT1 U0 OfBHSE |
= B ZRed(Eat &)

m 2|S=0|

" oplE 3 BT ol

" 5/ =P

OfH|
2|3t

Jazz
(&=

= 0to]A E#0[2)
n THX0f Csf Lopid|

" X{X2|ET} H|O|]AZ ARlOZ

i D]
X2 2oz BN
/R =R

10:30-13:30

otma|3t
(™ 2 E=)

= 0fo|A H2{o]
n20z sl 2l5so|
= HICTPA

=0l 0| BHST|(RRIAE)

= 5/YF =H)

10:30-13:30

otZz|3t
(M 3 g

= 0f0|A HO]Y

= OfI2[3} RIEZor Ra Y|

= HIC| I3 -M(SiMaMaKa)
ol5{HD|

= /Y= =R

or
ofn

ox
ofn
ox
ofn

o>
ofn
o>
ofn

or
ofn
or
ofn

or
ofn
or
ofn

ox
ofn
ox
ofn




= 0f0|A E2fofY

RELENG

1 110:30-13:30 S|l = M3t D20 CHoH otED| e
(&=  2254| ALK °° MEo
/= B A XFEFZ 2}
= 0f0|A E2f|o|
. 2. m 2O OFS )|
oalEL L2 U= N
UFHA 110:30-13:30 T(xlr;)-” " Q2= L2 =25 ME Moz
geuch e = DEH|C|Q A ESU
"5/ 2 D
S =00l Hajol
. . TEIS =
. 8. [10:30-13:30 (A2 = 22|=| SXH|C|Q THSD| A= At
° " /= =& 2|
= 0[0|A E2f|o|
" 2UAHE 28D =0/ &E
on = 0] B3t Zeh 22t 3P|
. 22. [10:30-13:30 (;{';) (ex. 22 &, ARQl AL HIEH Bf Cics i)
- oA §)
U RES
" /T 2R
I ENYEEE
oo » ZpEofet 220 Ciis oD |(H
.29, |10:30-13:30 (;'{';) | RE-HatA) AtE AtE
: =202 2ot 24
n3/A3 £ A
= ofol2 Hiaijo|2)
50| Y F=
5. [10:30-15:30|  HIpUES XS & =3 2P| e ALE
= u LI2te] Of A FA| °° °°
" 42 L))
n _)'\_EA|




